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Section A: Choose the correct answer.
Write its number in the brackets provided.

1.) Subtract 400 from 928 mentally.
(1) 428 (2) 328
(3) 528 (4) 282

2.) What is 52 less than 687?
(1) 635 (2) 235
(3) 553 (4) 475

3.) Take off 135 from 789.
(1) 564 (2) 365
(3) 745 (4) 654

4.) What is the best answer for the equation?

584 - 113=

(1) 853 (2) 147
(3) 471 (4) 587



5.)

6.)

7]

8.)

Find the value of 782 - 112.
(1) 524 (2) 385
(3) 617 (4) 670

Subtract 17 from 75.
(1) 58 (2) 41
(3) 47 (4) 52

Find the difference.
8 7 4
1 2 8

(1) 796 (2) 793
(3) 746 (4) 710

Complete the equation.
376 - =318

(1) 74 (2) 88
(3) 61 (4) 58



9.) Subtract.

8 8 3
T 3 4 9
(1) 489
(3) 423
10.) Subtract.
523-219=_
(1) 475
(3) 304

(2) 334
(4) 752

(2) 369
(4) 601



Section B: Read the questions carefully.
Write your answers on the spaces provided.

11.) (a) Complete the equation to make it correct.
584 - = 493
(b) Subtract.

368 -71=

12.) (a) Take off 78 from 328.
328-78+=

(b) Subtract.
826 - 164 =

13.) Subtract the following.

© 912[6]
1658

(b) | 8




14.) Complete the equation to make it correct.

©  9g87-6_8=289

(b)
884—19 =687

15.) Fill in the blanks with the correct number
(@) 658-469=18__

(b) 727-438=28__



Section C: Read the questions carefully.
Write your answer in the spaces provided.

16.) The answers in the problems are incorrect. Write the correct
answer on the space provided.

(a) 9 0 0
T 12 3
1 8 7

The correct answer should be:

(b) 7 0 O
4 6 7
4 2 1

The correct answer should be:

17.) James is looking for a pair of pants. Help James find out the
prices by subtracting the numbers.

(@) $500-%$239:=%

i

(b) $400-$112=%

i



(c) $700-%$341=%
[ﬁ:)
I
18.) Sammy is going to Yael's birthday party. Subtract the prices of

his gifts.

(a) How much is the cost of the notebook?
$200 - $198=%

(b) What is the price of the bag?
$300- $111= $

19.) Anne has 350 pieces of apples. She gave 62 pieces to Pat.
(@) Anne gave apples to Pat.

(b) Anne has apples left after she gave 62 apples to Pat.

20.) Complete the equation.

708-110=



